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WEST BENGAL STATE UNIVERSITY

B.A. Honours 2nd Semester Examination, 2019

PHIACORO3T- PHILOSOPHY (CC3)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. eNfes TG FE FYIE 2T [ R 1
Candidates should answer in their own words AT [T SIRET TR HET SHF N
and adhere to the word limit as practicable. Tes P91

Question No. 1 and 2 are compulsory. Answer any fwo from the rest.

> R AR X R &P Wi | SRR (A-GHIAl 76 @res S e

I Answer any five questions from the following: 2x5=10

fasfafae @-cie «i5fF avea Ted we:

(a) State the meaning of ‘Rpa’ and name its different types.
Y W A @ 9k @3 R ervrmefm i Srad s

(b) Distinguish between Sreya and Preya.
(G R (-7 N0 AN (TR

(¢) What is Svabhavavada?
FOIRMW [ WO 9

() Name the Realistic and Idealistic schools of Buddhism.
(e ¥t TEAIR @ il R w1 S wet

(e) What is meant by ‘Naya’ in Jaina Philosophy?
o WA T B A 9

(& What is meant by apra in Nyaya Philosophy?
R SN FEC FT RN 9

(g) What are the five avayavas of a Paficavayabi Nyaya?
AL T~ SR F o

fh) What sannikarsa is required for the perception of Sabdatva?
=g I (I HATE 2 9

(¥ What kinds of Karma are accepted in Vaisesika Philosophy? Give their names.
e wite 33 e w3 R 391 2 2 oo e By vt

(j) What are the Panca-kosa?
e 5 5 9
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o

Answer any fwo questions from the following:
fAsfifee @@ 7f avis Tea nes

Discuss briefly the Carvaka theory of self.
ST S R SO IRTFHC S S |

(b) Explain the Jaina concept of Jiva.

TEPTAS G eferafs ey e

(¢) Explain briefly different types of laukika sannikarsa with examples after Nyaya

Philosophy.
T Spica Afen eiim @i Aaed RIesTE ST SEAn S|

(&) Distinguish between Samavaya and Sarmyoga.

2026

MY 8 FCANHR Ml el ez

What are the Carvaka arguments in favour of the view that ‘inference is not a
source of veridical cognition’? Is this view satisfactory? Discuss.

NI e T — @2 BiEE WeR S e i F ¢ @R T F MSTETS 9
TG FCA |

Explain critically the Buddhist doctrine of Nairatmavada. 1s this doctrine
consistent with their Karmavada? — Explain.

@I RN g REReRE Gl FE @3 e A elt wRE W e o
— T A

Explain the distinction between Nirvikalpaka and Savikalpaka perception after
Nyaya school. How do the Naiyayikas prove the existence of nirvikalpaka
perception? How is Savikalpaka perception known?

WEwe WPt Aiess ¢ Afene aerma sl e st i e
s efoyrsa sy asid 5 2 TREsT 2o wHie el il A7 9

What do the Vaisesikas mean by abhiava? How many types of abhava are
accepted in Vaisesika Philosophy? Explain with suitable examples. How is
abhava known?

RRE We WO/ I IF ¢ @RS Wi T oFiF TR FFe T ¢ OE
TRIZHZ T A | TSR PN ] 09 2

5x2=10

10+5

10+5

8+5+2

2+11+2
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PHIACORO04T-PHILOSOPHY (CC4)

PHILOSOPHY, WESTERN LoGIC-I1

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. e Fma wrg K Qo0 e #e)
Candidates should answer in their own words A Feers @I I TG I Y
and adhere to the word limit as practicable. Bez Fhcd

Answer Question No. 1 and 2 and fwo more questions taking one from each
group (A & B)

> @R TR &M 93 ot F ¢ ¥ (UF W3 Fw o WAt 7 evaw Tea e

1. Answer any five questions from the following: - 2x5=10
| fraffe Q- «i5f elvis Ter mes
J#) What is propositional function? Give an example of it.
FHAICHE FICE 307 9 9P Tnizge we |
JB) Explain Principle of Universal Generalisation.
AR AT 5@ T PR |
(c) Is the following statement correct?
frafee Il & o ¢
~ ()~ Maxc = ~(x) Mx
(d) What is quantifier? What are its types?
W[E PIE A0 ¢ AT TS &SP ¢
(e) What is individual constant?
I 635 FF W ?
(f) What is analogical argument?
T e R g
(g) What is the product theorem of calculating probability? — Explain.
HABITS! aHe17 @t 3l & ¢ — g Fe
) Give the form of Method of Difference.
R S B ee
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(1) What are the particular cases for which the Method of Concomitant Variation is
most suitable?

(I (1 R (e H2- A #1afS RIs0a @ S ¢
() Distinguish between free variable and bound variable with illustrations.

& &1%S 8 & ARCHH WK 2137 TIewg i

2. Answer any two questions from the following:
fasfeiRe @-@E 4% evir Tea wiee
(a) State and explain the limitations of the rule of Existential Instantiation (E.I).
e HEEIEad (E.1) e Siaaetefs i st
(P’)’ Symbolise the following sentences by using quantifiers, variables etc. (Any two)
fesferie armefe s, aftars e AR adiwiie @i (@-imt 115)
(1) Nothing is both safe and exciting.
@I g @ wex fAaiem @ Srews w91
(y/) A girl will win if and only if she is lucky.
I (I &l 2R W @R (e T G @iead 2
(iii) Sita is a good singer.

et oA

‘Explain with example the Joint Method of Agreement and Difference. Show also
its form.

Ttz faea @ wiasta (wfRea s dl- 3o »iafe i et
(d) What is the need for quantification?
(e eareae! & ¢

Answer fwo questions, taking one from each group

7% Rett e 93 = e Fow caib %7 evea Tea wie

GROUP-A
frem-=
3 Construct formal proof of validity of the following:
s Feelr wiwmee tauet e Sl
() () (Cxo>~Dx)
(3x) (Cx-Ex)
S (3x) (Ex-~ Dx)
2076 2

5x2 =10
5

1 1
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5

5
5x3=15



CBCS/B.A./Hons./2nd Sem./Philosophy/PHIACOR04T/2019
(ii) Socrates is mortal. Therefore, everything is either mortal or not mortal.

FEERTO ST | SRR AT 2 TR S TRt W

(iii) Oranges are sweet. Lemons are tart. Therefore, oranges and lemons are sweet
or tart.

e A1 (0% | oAk FTANEY 9R 7] 2 Fafd W o

/6./ Determine the invalidity of the following arguments by the method of truth value
assignment:

FOTE Ao’ @l fNeste feafem stare! e i
S @0Px (Ax~ )]
(x) (Px 2 Gx)
(3x) (Px -~ 4x)
(%) (Sx > Ax)
. (3x) (Sx -~ Gx)

(i) There is nothing made of tin that is not cheap. No rings are made of lead. Not
everything is either tin or lead. Therefore, not all rings are cheap.

B e @x= I st o2 a1t st w71 et kb S tod w1 3R Regd B
w1t At 7 | SR T GRG 7B |

(i) (@X) (MX - NX)

(3X) (MX - OX)
2. (X) (0OX o NX)
GROUP-B
fot-4
) What is Hypothesis? Explain the criteria used for assessing the worth of
hypothesis.

2/FF P 9 ST TOAER NAre o T

467 Calculate the probability of the following cases:
e craefim woRye! e e

(i) Four men have their houses in four corners of a square. They spent one
evening in the centre of the square. At night, each person went back to one
of the houses, no two going to the same house. What is the probability that
each one reached his own house?

2076 3

5x3=15

5+10

5x3=15
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2076

B (7S G0 DRCHI AR SIRCPER Bl Afere A uafie e o=t
IR QPR R 375 IR A0S OR AteE @F @b ATre 50 ;W -
(A T (AR 93 A0S GIcE 71 eres? fres e e mielz werrst
IG?

What is the probability of getting three hearts, in drawing three cards in
succession from a standard deck?

(a) If each card is replaced before the next draw.
(b) If the cards are not replaced.

93 BT NS @A s G om gt Feet el wiere e =@
RIS T 9

(a) AW =itz OF (Ol BICet 2T WG “itaed fReficy e 73
(b) T coren oS frfac =t crem =

(Jf) What is the probability of getting at least one and at most one head in tossing

three coins?
ot @t 5o 3301 w2 WFIR IR SIEF G (T AT HSITS! TS 2

X




